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Find the average rate of change for the interval 22 x £ 4
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Point - Slope
Formula




y-y: =M x-x)

What does it stand for? _
(-2,4)
y:

Y1 :y-value from ordered pair
m: slope
X1 : x-value from your ordered pair

X:



Writing an equation given a point and the slope

1. Plug in the ordered pair for X; and Y; and the
slope in for m

2. Solve the equation for Y




Writing an equation given a point and the slope

(-4,6) and m = -3
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Writing an equation given a point and the slope

(12,-5)and m = 1/2
Y% = (X)

3+5—"m2§

g‘\" = 'LX (.Q

_ 5.
|97 3]




Writing an equation given a point and the slope

(-3,-7)and m=0

Y=—T




/ Writing an equation given a point and the slope \

(-2, 9) and m is undefined.
X=~2Z

) sls
5 5. M (X~=X)
=I5 CE =
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Y=Yi=m (x xb
Y+20=-5X+10)

+20=~5¥-
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(-12, 5) =
Y-5=7(X+2)
5\'.2 7X+§5{
| 3=7%x+ 89\







/ Writing an Equation given two points \
(-7, 4), an@
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/ Writing an Equation given two points \

(-2, 6),and (-2, 9)

=&

=2
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Writing an Equation given two points

(15, -6), and (7, -6)

M= O
S\
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Exit Ticket 2/14/19

Write the equation of the line that
passes through (-3,7) and (5,19)



